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EXERCISE 1
1. Write Yes or No.

(a)

(b)

(c)

(d)

S SRR K

There are more butterflies than flowers.

8 8, da e

There are more snails than leaves.

-

o(“’w RS

el B T
K

There are more worms than fish.

There are more chickens than ducks.

7




EXERCISE 2

1.
(G) Draw 1 more star.
1 more than 7 is
(b) Draw 1 more flower.
1 more than 5 is
2.
(@) Cross out 1 bottle.
00000 @ 0
1 less than 8 is
(b) Cross out 1 ledf.
A LS B2
B 88
1 less than 9 is




3. Join each balloon to the correct answer.

1 more

than 9
1 more

A
7S
than 6
4
7S
a

W — — qo— ——
S — —— o— — _—— o——

— — —

— — ——  — — —




EXERCISE 3
1. Fill in the blanks.

S EDSD
BOBEBYE

Thereare ____ more flowers than vases.

(b)

TesnnB D
oy

(d) oy
G5 5 &

Thereare __ more children than umbrellas.

10



2. Fill in the blanks.

Peter’s
balls

Matthew’s
balls

QG
DO
O

W O

has more balls.

Lily’s
buttons

©OOOO
©OO

has more

Dani’s
buttons

©OOO

toy boats than lan.

beads than Taylor.

He has more buttons. She has
balls. more buttons.

Ryan’s lan’s Sara’s Taylor’s
toy boats toy boats beads beads
Ryan has more Sara has fewer




EXERCISE 4

1.

There are fewer balls than bats.

12



Mary’s flowers Jane’s flowers

How many fewer flowers does Mary have than |ane!?

6 — 4 =

Mary has fewer flowers than Jane.

Set A Set B

How many more rabbits are there in Set B than in
Set A?

8 — 4 =

There are D more rabbits in Set B than in Set A.

13




EXERCISE 5

1.

How many more oranges than apples are there!?

8 — 3 =

There are more oranges than apples.

There are beads altogether.

14



54t <%

How many boats are left?

7©2=

boats are left.

Dani’s books Ryan’s books

N

) e

How many fewer books does Dani have than Ryan!?

1oQ7=

Dani has

fewer books than Ryan.

15




EXERCISE 6

1.
p\rl read 8 books. ] { | read 6 books.h

(@) How many books did they read altogether?

TR
Q)

They read books altogether.

(b) How many more books did Adam read than Haley?

wam | [T EETET0 T
Haley @

O[] =

Adam read more books than Haley.

16



@e 4 pencils.

| have 3 pencils.

Susan Jamie

How many pencils do they have altogether?

O[] =

They have pencils altogether.

| have 8 marbles. @qve 2 mar@
NS
& 7 \¢
(7\( ‘d - “ PR )))
= > 2
M A
Joe John

How many more marbles does Joe have than John!?

Q =

Joe has more marbles than John.

17



EXERCISE 7

1.

At a Toy Shop

b

]

|

|

e

Fill in the blanks.

(a) There are
(b) There are
(c) There are

(d) There are

(e) There are

-
A
Drum Boat
cars.
drums.
boats.

toys altogether.

more boats than drums.
18




% Raju’s Pets

Y89 QRS

PRI

Bird Rabbit Fish

Fill in the blanks.

(@) Ragjuhas _— rabbits.
(b) He has ___ birds.
(c) He has ___ more fish than rabbits.

(d Hehas __ fewer rabbits than birds.
19



3. At the Zoo

s | )Y AVef) 45 4555

Lion

Bear

Fill in the blanks.

(@) Thereare _ monkeys.

(b) Thereare _ bears.

(c) Thereare _ more monkeys than bears.
(d) Thereare _ fewer lions than bears.

() Thereare _ animals altogether.

20



EXERCISE 8

I My Stickers of Birds

PDOOSOO

000

000

Parrot

009009

Swan

=

Eagle

Each

) stands for 1 sticker.

Fill in the blanks.

(@) Thereare _ stickers altogether.

(b) Thereare ~ stickers of swans.

(c) Thereare _ more stickers of owls than of
parrots.

(d) Thereare — fewer stickers of eagles than of
swans.

(e) The number of stickers of __is the greatest.

(f) The number of stickers of is the smallest.

21



Our Favorite Fishes

Goldfish Swordtail

Each - stands for 1 child.

Fill in the blanks.

(@) children like goldfish best.

(b) _ children like swordtails best.

() more children like guppies than angelfish.
(d)y _ fewer children like swordtails than goldfish.

(e) The least popular fish is

(f) The most popular fish is
2



EXERCISE 9

b B

Count the balls in each basket.

Then complete this graph.

\Eelg

Aihua

@
Peter éﬁ

Lily

8

v

0

Ali

Aihua

Peter

23



2. The picture shows the toys in a shop.

Count each type of toy and complete the graph below.

Toys at a Shop

Number _

e
of v

S el

Toys

D\ Fler/ || B

24



EXERCISE 10

1. Circle groups of 10. Then count and write the number.

W

SIRII[Y MMMMM Sre te pe e
BB BRR bR e Res
Saaaa | CEEET s nrr
B33 | e et is
BRIVVBBV |20 000 | o erenin
PRIV (D] B
RWR H R vy —gg 3339
X N N(E (w9 YYY ggod9 9
ﬁ&wﬁﬁ CRCRSRCRS 33 3PP P
ﬁﬁﬁﬁ VOYYY |(gdFdP S
S SRy SR S Yuyvwuy |(g833 33
R8N |(vuvwuw (983039

25



EXERCISE 11
1. Match.




. Write the numbers.

thirty-three

27



EXERCISE 12
1. Fill in the missing numbers.

(a)

6 more than 20 is

EEEEEEEEEE
(T TIIIT] g
SRARNRREGT

5 more than 30 is

28



EXERCISE 13

1. Fill in the missing numbers.

(a)

T ':. 24

(XA D\ aa

@5 &5 2o ) [
® 0

888 o oo 2 |

(¢) |
AT

)
T i W

V99N

0L 3 a2
BB coo
30 6
(e)§§E§ [:
EE@E T
4 B H 30 9

29




2. Fill in the missing numbers.

O
OO
)
OO
30 + 7 =
Q D
oYe ale)
PR Q0
PP PRPP
Q
PP
PP PP
PR
30 + [ = 33

JORE L1 L3 |
HREEEEREER
HNEEEEEEER

HRNRERE

j+4=34

30




EXERCISE 14

1. Fill in the missing numbers.




1 2 3 4 5 6 7 8 9110
11 (12 |13 |14 |15 |16 |17 | 18 [ 19 | 20
21122123 |24 |25 |26 | 27 | 28 | 29 |.30
31 {32 |33 |34 (35 (36 |37 |38 |39 | 40

2. Fill in the blanks.

(a)
(b)
(c)
(d)
(e)
(f)
(9)
(h)
(i)

(i)

1 more than 15 is

1 more than 26 is

1 more than 30 is

1 less than 18 is

1 less than 33 is

1 less than 40 is

2 more than 17 is

2 more than 29 is

2 less than 28 is

2 less than 37 is

32




EXERCISE 15

1.

Use the numbers in the bag to fill in the blanks.

(a)

(b)

25 is greater than

38 is smaller than

The greatest number is

The smallest humber is

29 is greater than

35 is smaller than

The greatest number is

The smallest number is

33



EXERCISE 16

1.

Write how many tens and ones.

{heye

23 = __ tens ___ ones

T &
10000000

& &

A
£

29 = tens ___ ones

38 =__ tens __ ones

30 = __tens __ ones

34




2. Write how many tens and ones. Then write the number.

(@)

Tens | Ones

(b)
00
Q00
© 0

()

Tens | Ones

35



EXERCISE 17
1. Fill in the blanks.

()

(b)

(©)

(d)

& g

1 more than 18 is

GG

GG

GG
€)

® 00

10 more than 23 is

i) 960 2 ety

10 more than 12 is

A N S g
LLTTTTTTITT) OO0
LITITITTITTY) OO0

1 more than 39 is

36




2. Fill in the blanks.

()

1 less than 28 is

OOO
OO O

& W

© T
Sitansaiani)
e
1 less than 31 is
(d) (TTTITITIL]

HNEEEEEEER
MpEESESEa

10 less than 31 is

]

37




3. Fill in the blanks.

0 &Kk
r% * &

tk k% KX
T I TL
Kk Kk

1 more than 25 is

10 more than 25 is

YA
0 oA
;\:\\ “ N !
NN

1 less than 22 is
10 less than 22 is )

2089

1 more than 24 is

10 more than 24 is

AV D

@
g
7
g

1 more than 27 is

10 more than 27 is

o
0 o0
F

1 less than 26 is
10 less than 26 is :

RS AGIID A o AR & 4
WW WW W
WN RNW WX
W W W
WWR WWN W

1 less than 29 is
10 less than 29 is )

38
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EXERCISE 18
1. Add.

()

(b)




2. Subtract.

8 — 4

© O Y
© 0T Y

18 — 4

©OOPYY
© OYY

28 — 4

©OOYY
© OYY

6 — 6

bal'ala
bal'al'a

(Frrrrrrrty Y

36 — 6

ety (Y

(rfrrrety) NN

40
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EXERCISE 19

1.

Add.

(a)

(b)

(d)

()

@ 15 + 3 =
ﬁgé@ 30 + 10 =
BEMmM =-s-

% 12 + 10 =
00

T BU

I IOgg 8 *2°

EENEENCEINARY

41




2. Subtract.

(a)

(b)

()

(d)

PR B
e 2 - 2 =
WWW
P> K
Q
é @0 25 — 10 =
Qo
i i L s -
ooy s - 3
YAVAVAVAVAVAVAVAVAVANRIVNUN
VAVAYAVAYAYAYATA VATAYSRE LW L DR A S

ANNANNNNA A A

42
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EXERCISE 20

1. Write the answers.

(@)

(c)

(e)

(9)

22

28

34

33

2. Write the answers.

(@)

(c)

(e)

(9)

23

27

34

38

43

(b)

(d)

(f)

(h)

(b)

(d)

(f)

(h)

25

30

35

a9

26

30

39

40




3. Write the answers.

©w =3O o @[=3)0

4. Follow the arrows and fill in the missing numbers.

O@Q@ %



EXERCISE 21

1.

Add.

- — — - -

-— e

\@@/ / @D /, _\ )
| ®@ * aa 0000
_ \ : \ .0 000
_,6@_ S T §
/@@Yx < DL < — 00
- Il R m— L < mm— i | e I
@ 06| | Ggmmp—— "
- <t ™M (00)
@00 00 :
+ L + +
©o000| « I B nm% o@ ~
mM
ceeoce r N
\\ O@,_
l O |
H | @@
|
\ v
\ | P // (OO Ny
\ 3 U .I...lu\\
o < | g% v |\ Jpp0 !
D000
B - o
g % & OO +
(a0 IDBDADIIDDD I
n aﬁ o N

45




2. Add.

00
000000

46



EXERCISE 22

1. Add.

27 + 4

-————

rd

OOOOO
OO0

18 + 8

900
- 000
» D00
909,

- ——

WP

29 + 3

47




27 + 7

BOo0o
OO0

0o
g
(ITITTTTTTT]
(TTTTTTTTT]
(IITTTTTTT]

15 + 6

2. Add.

oooaa

ad
OO00Oanf

CCrrrrrritd
(CITTTITIT1]

34 + 6 =

48

27 + 5




EEEEEEEEEE

OO
| GERY



EXERCISE 24
1. Add.

5 4+ 2 = 6 + 3 =
15 + 2 = 16 + 3 =
4 + 4 = 5+ 4 =
24 + 4 = 25 + 4 =
7 +2 = 2 + 6 =
37 + 2 = 32+ 6 =

50



2. Add.

] o Gl S, o g L e

[ B S0
!G%D@QD@ DOQ® 6 + 5 = 11

e —— o ———
R

®®®:
Sc
e, !
@®®r
S
o
+
U
1

-~ -

J N
+ +
w W
oo
© o
+ +
w W
o

> o
+ +
o O
oo
NN
+ +
o O
oo

C o
+ 4+
on O
nou
NN
+ +
o O
oo

51



EXERCISE 25

r
|
|
1. Subtract and help the rabbit find its way to the carrot. |

52



EXERCISE 26

1. Subtract.

é TR L

B0y
C88 2on | 00000
HHE 577 gl
40 — 7 20 9 =

1

30 — 6 =




2. Subtract.

20 - 5

40 - 5

R
BRE
DRR
DR

CLIIITIID

oo
o

40 - 8

30 - 9

20 — 3

ASAES
© -
GASRES
OB ®

©]16]6]6]6,
©J6I6]6]6,

20 - 7




EXERCISE 27

1.

Subtract.

™M
I

9

20

26 — 4

39 - 7

8 — 6
28 - 6

38 — 5

25 — 3

7 - 3
37 - 3

58




2. Subtract.

12 — 8 = 4

-_—-
—— e ——— =

’________._-_._.__

DGDGD U 2-4-
00000 0

22 - 8
/ N\
10 12
AR
14, = 7=& 15 -8 =
34 - 7 = 25 - 8 =
17 — 9 = 11 — 6 =
27 - 9 = 21 - 6 =
13 — 5 = 18 -9 =
33 — § = 38 — 9 =

56



EXERCISE 28

1.

Add.

3+ 2 + 4

57







EXERCISE 29

1. Add and write the answers in the circ

(a)

(b)

1 6 5
8 | 4 0
3 2 7

2 | 7 6
29 | 5 |
4 | 3 8

S0o|  Goe)|




REVIEW 1

1. Write the numbers.

Then match the numbers and words.

_________

/’ B thirty-eight 4 N
: 0o : oo |
1 oo g oo
. oo twenty-nine E oog
3 oo L = oo )
:’ 0 twenty-eight ,’/ \‘,
: 0 : ! E o :
I oo oo I
Lk - 22 |
] =1 , nineteen . oo
2. Fill in the missing numbers.
2122 25 [29] ]
| 33 36 )
3. Arrange the numbers in order.
Begin with the smallest number.
smallest greatest

60




4. Fill in the blanks.

©oooo || 9999 || oo
OHAOOO || eedd® || 900
A B C
(@) Set A has more apples than Set C.
(b) Set A, B and C have apples altogether.

(c) Set has the most apples.
(d) Set has the fewest apples.
5. Fill in the missing numbers.
@  [3g ® |35
| Wl e Ty
I ® | B O
38 — 30 = 35 — 15 =
N ETE L
e TR 2 Ry
20 7 30 10
20 + 7 = 30 + 10 =

61




Cameron’s Pet Fishes

Swordtail Guppy Angelfish Goldfish

Each 2\ stands for 1 fish.

Fill in the blanks.

(@) Cameron has _ guppies.

(b) He has — goldfish.

(c) Hehas _ more goldfish than swordtails.
(d) He has ~ fewer angelfish than guppies.
() The number of _ is the greatest.

(f) The number of _______is the smallest.

62



7. Mrs. Ray bought 14 pears and 6 oranges.

How many more pears than oranges were there!?

1
L

| O-C

There were _ more pears than oranges.

8. Sam sold 6 pencils.
He had 5 pencils left.

How many pencils did he have at first?

Samhad __ pencils at first.

9. Eric has 8 toy soldiers.
He buys 7 more.

How many toy soldiers does he have now?

r He has toy soldiers now.

| o



EXERCISE 30

1. Write the answers.

2 + 2 + 2 =

3 twos =

3+ 3 4+ 3 + 3 =

4 + 4 + 4 =
3 fours =




2. Complete the drawings. Then write the answers.

<A
T &

s
. O
G

2 fours =

65



EXERCISE 31
1. Fill in the blanks.

()
AW [
There are pencils in each group.
There are pencils altogether.

(b)

There are cakes in each group.
There are cakes altogether.

(c) igayiys QLD o
0 O
WA WA W

There are carrots in each group.
There are carrots altogether.

66



m

2. Complete the drawings. Then fill in the blanks.

()

P 5P

S g \ 7 1 [/ —

There are 2 fish in each tank.

Thereare _fish altogether.

There are 3 apples in each bowl.

There are apples altogether.

(alclc]

| I IL IR

There are 4 buttons on each dress.

Thereare __ buttons altogether.

(d)

There are 5 flowers on each towel.

Thereare __ flowers altogether.

67



EXERCISE 32
1. Fill in the blanks.

(a)

(b)

()

(d)

@ 6 @) D

There are groups of 5.
There are peppers altogether.
There are groups of 6.
There are buttons altogether.

YVvVvVvv

There are 5 groups of

There are flowers altogether.

ool ooofef ol

There are 6 groups of

There are leaves altogether.

68




4 9} Draw 5 () in each circle.

OO C

3 groups of 5 =

®) | Draw 3 @ in each triangle.

4 groups of 3 =

© | Draw 4 % in each square.

2 groups of 4 =

(d) | Draw 2 (% in each rectangle

5 groups of 2 =

69



EXERCISE 33
1. Match.

Multiply

3 and 8

Multiply

6 and 3 4 and 10

6 groups 4 groups
of 3 of 10

70

Multiply




2. Tell a story for each picture.

Then complete the number sentence.

@9
& @
THT
&

. @
0

Y

(O3
TN Y
e
D'x{::n

71




EXERCISE 34

1. (a)

(b)

(c)

(d)

Draw @ to show 2 X 3 = 6.

Draw 9 to show 3 x 4 = 12.

Draw % to show 4 x 5 = 20.

Draw(f)to show 6 x 2 = 12.

72




EXERCISE 35

1

Match and write the answers.

3+3+3+3=

ASINAIN

2+2+2=

3+3+3+3+3=

A

5+5+5+5=

73




2. Write the answers.

|

(b)

X 4

(c)

(@
® 9)
®) [ ] ®
® ® )

e 3




T

3. Multiply.

(@)

(b)

(c)

(d)

X 2 =

? CW@

2’}2?23’
ﬁI}Z’?

iii §i§ *ff‘é
W
ﬂ e;m Ny

A
{? 4 x 6
s

il

2 x 7 =




EXERCISE 36

£

How many apples are there altogether?

O

€

There are apples altogether.

How many fish are there altogether?

OL

il

There are fish altogether.

76




Tl N N e e
S e TR e e

How many forks are there altogether?

b e e 1

There are forks altogether.

How many stamps are there altogether?

JOL-1]

There are stamps altogether.

77




5. Complete the multiplica

” @ﬁﬁ

%%@@@

(c)

@@@@@@@




REVIEW 2

1. Write the numbers.

A 0
() J

A &
_—ehttaeswnts /A AAAMLARRRARE "

(b)

-

(d)

2. David has 4 marbles.
Pablo has 2 more marbles than David.

Draw Pablo’s marbles.
. DOOP
marbles

Pablo’s

marbles

Pablo has marbles.
79




3. Multiply.

(d)

“HpD
“¥

333

6

AN
RHY

PP
& o 45

4 x




4. Fill in the blanks.

Fruits We Like Best

Papaya Orange Pear Apple Piapple

Each Q stands for 1 child.

(@) Thereare __ children altogether.

(b) —_ children like to eat papayas.

(c) The most popular fruit is

(d) The least popular fruit is

() —__ more children like pears than pineapples.

(f) —____ fewer children like oranges than apples.
81



How many more flowers does Lily have than Emily?

O LI+

Lily has more flowers than Emily.

Holly has 5 cartons of orange juice.
She buys 7 more.

How many cartons does she have now?

Shehas . cartons now.

. Sara picks 17 shells.
She throws away 5.

How many shells does she have left?

She has _ shells left.

82




REVIEW 3

1. Do these.
(a) 4 + 6 = (b) 10 — 7 =
14 + 6 = 20 - 7 =
24 + 6 = 30 - 7 =
34 + 6 = 40 - 7 =
© | 8+ 10 = (d) | 39 — 10 =
8 + 20 = 39 - 20 =
8 + 30 = 39 — 30 =

2. Fill in the blanks.

(a) | Dan’s marbles @ @ @ @ @ @ @ ® @

Peter’s marbles @ @ @ @ @

has more marbles.

Hehas . more marbles.
b s S o
) Beds K &‘4& @ E-.__!!-'

Boys

w’ﬁ?’b&

Thereare _ fewer beds than bouys.
83



3. (a) Circle the greatest number.

(b) Cross out the smallest number.

4. Fill in the missing numbers.

(@) 25, 26, , , 29, , , 32
b) 2468 ., .,
(c) 5,10, 15, ; , 30, .
5. Fill in the blanks.
(a) OC 00O 60 (b) OO OO
OO OO OO OO OO
OO OO OO0 oo BRSBTS
OO OO OO0 oo OO OO

OO0 OO OO o

6 more than 30is .

(c) OO OO 00 O®
00 00 00 O®
00 .OFWOO0
OO0 00 00 0O
OO0 00 00 OO

2 less than 40 is .
84

(b)

OO0 OO OO0 eo@

10 more than 22 is .

OO0 OO
OO0 OO
OO0 OO
OO OO
OO OO

OO
QO
OO

10 less than 36 is ___.
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Lo LpLH R

Q\U J ﬁ
& ¥ |25
& | Oy 3%
e k- r=

2 X
ge
16 — 9

Sy

S
& Sy S
@@ O M @w

%

6. Complete the number sentences.

(a)

—_ —_— e
0 Y O
~— S~ ~—
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7. There are 19 children.
6 children are skipping.

How many children are not skipping?

children are not skipping.

8. There are 9 cakes altogether.

4 cakes are on the plate.

How many cakes are in the box!? @

cakes are in the box.

9. There are 5 blue cars.
There are 4 yellow cars.
There are 2 red cars.

How many cars are there altogether?

There are cars altogether.
86




REVIEW 4
1. (a) Add or subtract.

20 + 14 =
34 — 20 =
34 — 14 =
14 + 20 =
(b) Multiply.
* % k X X
3 x5 = * % Kk k%
ok Kk X

2. Draw two lines to divide the square below into a
rectangle and two triangles.

87



3. (a) Color the 3rd ball from the right.

) Cross out the 5th ball from the left.

Oo o

0
O O O°°O O Oo
o Q_o

4. Fill in the blanks.

(@) 1 more than 7 is

(b) 1 less than 7 is

5. Arrange the ribbons, A, B, C and D in order.
Begin with the shortest ribbon.

A

shortest longest

6. Check (v') the heavier fruit

Mango / f

Pear

88
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Cani
P o 44 ¥
s b by & e

T e oo CAENE T RN, ~on e~ N o Ty

How many fish are there altogether?

There are fish altogether.

There are pears altogether.

How many more ducks
than chickens are there?

9 — 6 =

There are more ducks than chickens.

89




10. Ryan caught 11 butterflies.

David caught 9 butterflies.

Ryan caught

more butterflies than David.

11l

Amy has 8 lanterns.
She gives away 5 lanterns.

How many lanterns does she have
left?

Amy has lanterns left.

12.

Mary wants 12 buttons for her dress.
She has 8 buttons now.

How many more buttons does she need!?

She needs more buttons.

90
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EXERCISE 37
1. Fill in the blanks.

{ ~1 A
CSASIIIPFANSIIRN

AR

There are

RN

ARARRL

S

The bananas are put equally in

groups.

bananas in each group.

(b)

There are

\

The pears are put equally in

"JIIII". e
&
IS

~‘|‘
\
\
\
N
=S

N
\
S

groups.

pears in each group.

There are

The kiwis are put equally in

groups.

kiwis in each group.

el




2. (a)

(b)

(c)

Draw an equal number of eggs for each nest.

GOOOOOOE 00

There are eqggs in each nest.

Draw an equal number of cakes for each plate.

W W w @ © ©

Y
O >

There are cakes on each plate.

Draw an equal number of glasses for each tray.

LRV RV RV RVR vy

y
L 7L 7L 7

There are glasses on each tray.
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EXERCISE 38

1.

Put 18 pears equally in 3 groups.

AAAINAGALA
AANOAAAAA

Thereare __ pears in each group.

Put 14 cookies equally in 2 groups.

There are cookies in each group.

Put 12 pencils equally in 4 groups.

LT,

There are pencils in each group.

93




Put 16 pencils equally in 2 groups.

W

There are pencils in each group.

Put 12 flowers equally in 3 groups.

VAVEVERAY,
VAVAVRARY

There are flowers in each group.

Put 15 fish equally in 3 groups.

B o 85 ) B0 5Py 8
" b B % ip P

There are fish in each group.

94




EXERCISE 39

1. (a)

There are 10 children.

Circle groups of 2.

ettt

There are groups of 2.
(b) Th
ere are 18 boats.
Circle groups of 3.
N S
Eadd &L
EELELEL L
There are groups of 3.
(c)

There are 24 pears.

Circle groups of 4.

BIATAYATATATAYAYAYAYAYA
AYAYATATAYAYAYATAYATAYA

There are groups of 4.

95



2. (a)
0000000000
00000

There are 15 kiwis.
Kate puts 3 kiwis on each plate.

She uses plates.

(b)

000000

\QO\

4

)

{

Lily has 18 beads.
She puts 3 beads on each string.

She uses strings.

96




EXERCISE 40

ks

OO0O00O0O
OO0O0O0OO0

2 girls share 10 beads equally.

How many beads does each girl get?

Each girl gets beads.

L a0 0 Q00 o0 [-2-IN -] -1
@ e W % o o e o & e e o
8 .2 e e L a o a a L —
oo 0:0:9 0o o0 000 oo )
00 0o oo o iy 8.4 & G0 g
o ™ ¢ LIS L e o o
o @ e @ 5 & e o e o ¢ o
°ao 99a 0o o oeo e . eas

4 children share 12 crackers equally.

How many crackers does each child get?

Each childgets _ crackers.

97




BB

B B
S@@E@

SIS

Divide 12 picture cards into 3 equal groups.

How many picture cards are there in each group!?

There are picture cards in each group.

P

peY

el

3660
GR0OGC

3000
CRIEAC

There are 20 buns.

Mingfa wants to put 4 buns in each box.

How many boxes does he need!?

He needs boxes.

98




EXERCISE 41
Write Yes or No.

1.

(a)

(b)

(d)

The watermelon is cut into halves.

5 (74

The pizza is cut into halves.

The shaded part shows a half of the shape.

Ve

The shaded part shows a quarter of
the shape.




()

(f)

(9)

(h)

\

The line divides the letter N into halves.

B

The line divides the letter Q into halves.

The shaded part shows a half of the shape.

o3 e e
Spweitit T Rt

The shaded part shows a quarter of
the shape.

100




EXERCISE 42

1. Color a half of each of the following shapes.

(a)

()

101

(b)

(f)

- ot e Em e s oEs E e Mmoo o




2. Color a quarter of each of the following shapes.

(@)

(d)

(f)

| ittt

102



AALNAL
™ ™
POOPOTD
yINANPT
o020







EXERCISE 44
1. Match.

8 o’clock

5 o’clock

1 o’clock

3 o’clock

11 o’clock

10 o’clock

7 o’clock

9 o’clock

105



2. Write the time shown on each clock.
(a)
(b)
(c)
He goes swimming at
106




(d)

()

He goes to bed at

107




EXERCISE 45
1. Match.




b

2. Write the time shown on each clock face.

At Fort Siloso:

At the
Underwater
World:

109




3. Write the time shown on each clock.




REVIEW 5

1. Write the numbers.

(@)

Il

2. Fill in the missing numbers.

(a) 2%
i

0| | |

e

|

3. Fill in the missing numbers.

5 T, 20,

’ ’

4. Fill in the missing numbers.

(a) 5 more than 10 is

(b) 10 more than 10 is .

(c) 4 less than 24 is

(d) 10 less than 38 is

B
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5. Add or subtract.

Then pair up the number sentences.

30+9=—> ?38—10=
18 + 2 = > E40—1
20 + 8 = > >39—8

11+20=> >27-—7

6. Match.

Four o’clock

Half past three

Three o’clock

Half past four

112




7. 6 have 6 stomps) (I have 4 stamps.) (I have 5 stamps.)

Ryan

How many stamps do they have altogether?

| OLIOL-

They have stamps altogether.
8. O berves 1 booksj | have 3 more books
: than Amber.

Amber

How many books does Lily have!?

Q -

Lily has books.

113




v

Emma bought 14 apples.
She gave 10 apples to her friends.

How many apples did she have left?

She had apples left.

10.

Bonita gave 6 balloons to her friends.
She had 9 balloons left.

How many balloons did she have at first?

She had balloons at first.

11.

Mrs. Gray had 20 eggs.
She used some eggs to bake cakes.
She had 8 eggs left.

How many eggs did she use!?

Sheused  eggs.
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EXERCISE 46

1. Match.

‘T




2. Write how many tens. Then write the number.

s, i, B 58 B

tens

tens

Ay Gttty
Sandanasns N e danaEE e,
i mnn e o i i i i

i S o i i i A

tens

tens

116



3. Write the numbers. ot 0% T




EXERCISE 47
1. Match.




2. Color the correct number.

49

LITTTTTITT[]

HNEEEEEEER

LITTTTITITT]

LITTTITTTT]

LITTTTTITT T
LITTTITTITT]

58

62

74

86

93

119




EXERCISE 48

1. Write how many tens and ones. Then write the number.

'Y YY

- & &

tens ones

G o
i G

tens ones
O
©
O
tens ones




|

2. Write how many tens and ones. Then write the number.

T BB oo
a2 a2
& & =7
Tens | Ones |j>
(b) &
22
) () &
Tens | Ones l:>
(<) huu. tgw @ i D
N J
ECL.Lj N @ d G

121



EXERCISE 49
1. Match.

sixty-three

sixty-eight

=)

eighty-seven

=3

122




2. Write the numbers.

\

] eighty-five J
o &

L seventy-two I

L ninety- three

/

f seventy-four j

e

fifty-one

j thirty-nine

\

twelve j
Py

\

f forty-seven f

)




EXERCISE 50

1. Fill in the missing numbers.

=
& & = KW
E2 £ <
R &
(e 9 & 50
e 0,0 ~.

aoa%a® N
@@@a@@@m 7i




O
©

5

40 + 6

AR
W

N

e
@
[6JO)
]

lo¥ololoJclmkeXololoke
EEEA0C| 0EVO0

[cYoJololcimIcXoNO)

loXoxoiciclmioXololc
'o¥ojojoicimioxcic]

loYoXoxexelRielocXolo)
EROQA| RGO
loYo)oloXol M ioXololoXC)
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EXERCISE 51

1. Write the missing numbers.

(a)
64 | 65 66 69
81
78 71
771 74

126




EXERCISE 52

1. Write the numbers in order. Begin with the given number.

®®|@ O OO0

The greatest number is

2] |
@ The smallest nhumber is

The greatest number is

- NVANVANVAN

The greatest number is

95 | || 58
@ The smallest number is

The greatest number is

127




EXERCISE 53
1. Fill in the blanks.

1 more than 14 is

B0

i

14

10

T

more than 14 is

.
{

1 more than 22 is

10 more than 22 is

50
00U

1 more than 43 is

10 more than 43 is

B8 110
8 1

1 more than 35 is

10 more than 35 is

s fa s %E

1 more than 56 is

10 more than 56 is

128




T

2. Fill in the blanks.

&& i

1 less than 23 is

sl

P
Y
/ ol
! |
| t ﬂ D D
: 1
/
‘\\_ _‘f

10 less than 23 is )

00000

1 less than 15 is

10 less than 15 is

B
& 1000]

1 less than 39 is
10 less than 39 is

0

42 0900
& 000

1 less than 27 is
10 less than 27 is

g&% ‘

1 less than 51 is

10 less than 51 is

129




EXERCISE 54

1. Follow the arrows and fill in the missing numbers.

CHECKPOINT
i .
+10 +10
+1 1
10 +10
+1 ~1
+1 +10
i,
CHECKPOINT END

130




e
EXERCISE 55

1.
112 3| 4/ 5| 6/ 7| 8| 9|10 +1>
111121314 15| 16/17 |18 19| 20
21122023124 25| 26/27 (28|29 30
31 (32(33 /3435|3637 (38|39 40

(G
| 41 (42 |43 |44 | 45| 46|47 |48 | 49| 50
| 51 {5253 |54 55| 56]/57 (58|59 60
| 61 62|63 |64|65| 66|67 68|69 70

r 71 |72 (73|74 |75|76|77 |78 79| 80

N

8182|8384 |85|86/87 88|89 90
919293194 | 95| 96/97 |98 |99 (100

7 { oo )
( from 45.

W‘)oo e/
.r L)
/

(b) 39 + 30 = from 39. i

( Count backwards

() 45 + 10

2 tens from 95

(c) 95 — 20

v*-?

131




(d) 68 _ 2 _ /\/—'\/"‘"\/—\

Count backwards
2 ones fom 68.

\ee e

(e) 71 + 3 = o~

Count on 3 ones

( from 71.
Q_ \_/oo
7/

\_/\/

(f) 56 — 30

G
e 0
Count backwards
3 tens from 56.

- )

(g) 87 - 3 = /‘\/\,—\
{C\ount backwards

Count on 2 tens

from 64. \—/.) . 4

(h) 64 + 20

132




b |

EXERCISE 56

1. Fill in the blanks.

3(3)

S| 3
\

(@) 1 more than 77 is

(b) 10 more than 77 is

(c) 1 less than 82 is ;
(d) 10 less than 82 is :

(e) 1 more than 80 is

(f) 2 less than 80 is ,

(g) 3 less than 84 is :

(h) 10 less than 86 is .

(i) 20 less than 98 is ;

(j) 30 more than 62 is
(k) 20 less than 96 is :

133




EXERCISE 57

(@)

@B &

2% + 3 =
(b) 4
|| m
32 + 5 =
(c)
% PPP  PPPPPP
3 + 6 =

@ | e

2




2. Add.

OO0

4 +3 =7
ENEEEEEEEN
11111111 0Oo0d
[(TITTIIII1]

34 + 3 =
5+ 2 = 6
25 + 2 = 36 + 1 =
4 + 4 = 7+ 2 =
44 + 4 = 57 + 2 =
3+ 3 = | + 8 =
63 + 3 = 71 + 8. =

135




EXERCISE 58

47 + 3

0000

OOOOO

& & & & & & & .8

®
76 + 4 =
B .
g Al
58 + 5§ =
CITTTITIT) CIITTTIITIN O
REENSERNINEEERENDRE

|
[

|
|

[
|
L]

82 + 9

l
e it
LTI OOTTTITTTT]

Dooon
oOoog

136




2. Add.

= O
L] |
OO
O 3d
/7 + 5 =12
HHHEHHE
EpEREREREEE
EEEL EguliEg s
1000 Qo 67 + 5
N O I I /\ r\
67 + 5 = -
1%
5 + 5 = 4 + 7 =
45 + 5 = 64 + 7 =
6 + 8 = 9 + 4 =
86 + 8 = 59 + 4 =
5+ 6 = 8 + 2 =
75 + 6 = 68 + 2 =

137




EXERCISE 59

3 QOO0

10 + 40

30 + 50

30 + 20 =
"l‘," -"V ”‘7
Y Y Y
00 ‘1 00 " 09 ‘r
0 ZER 0 6 9B s %
Gookgm G B
It S "'7
I 8.7 OQ‘I‘;, o’i"
. 9 (D) —1 3¢
8 Qe S
20 + 40 =
BXoXelele PP000@| (@006
@O0 RO |EERO®E®
eYeXelol) 00000 00006
ayexelelo) 00000 00000
P00 00 eXeleXexe)
lexejelels; loYeyeJe)e)
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2. Add.
01HH  AAAAF
|11 | = o e =
- H O HHHHB
mfEnle 100
sfuln ainlulnls
0 OO JOo0O0O0o-
3tens + 5 tens = tens
30 #5850 =
2 tens 3tens = ____ tens 1ten + S5tens = ____ tens
20 30 =_ 10 + 50 =
3 tens 4tens = tens 6tens + 2tens = _____ tens
30 40 =y 60 + 20 = _
2 tens 7 tens = ___ tens 3tens + 3tens = ____ tens
20 70 =0 A 30 + 30 =
8 tens Tten =__  tens Stens + 4tens = ___ tens
80 10 = _ 50 + 40 = _

139




EXERCISE 60
1. Add.




2. Add.

(TTTTTTTITT]

LTI TITTTITT]
HENEREEEREE

EENEEENEEN

40 + 20

TR RN T

o

4 10 L I Y 5 R R

0

CITTITITTI]

LTI P TPl

LIT T T I T T IT]

LIT T T T I T ]
|

42 + 20

FERIRE SIS B L

42 + 20

A5

40

2

40

40 +

36

20
28

70
70

10
17

60
60

50 +

50

30
35

50

54 +

20
20

20
21

60
60

141




EXERCISE 61

1. Add.
00 o |:> mis
EpEgs HEn
) L] JEE
A Ea® | L
O L0 e
25 + 14 =
45 + 10 + 3 = 24 + 10 + =
45 + 13 = 24 + 12 =
37 + 10 + 3 = 76 + 10 + 4 =
37 + 13 = 76 + 14 =
25 + 10 + 7 = 48 + 10 + 6 =
25 + 17 = 48 + 16 =

142




2. Add.

H H EE_E_
'*D = ai_
[ at=lw
aps
HHHe BEE  HAH
1 O tl
33 + 25 = 5 e 70 B
42 + 30 + 6 = 35 + 40 + 2 =
42 + 36 = 35 + 42 =
56+ 20 + § = 28 + 60 + 2 =
55 + 25 = 28 + 62 =
37 + 30 + 8 = 65 + 20 + 9 =
37 + 38 = 65 + 29 =

143




EXERCISE 62

1. Subtract.

144




2. Subtract.

N -

1

™M
_

N~

™M

]

37 - 4

69 — 5

65 - 3

6 — 2
86 — 2

8 — 6
58 - 6

145



EXERCISE 63

t.

Subtract.

00O

O0000
OO00O0O0

O00O0O0
OQ00O0O0

Q0000
OO00O0O0

00000
O000O0

00000
QROQ OO

O000O0
O000O0

O000O0
O00DQ0

O000O0
00000

HEERNREEE
CCITrrrririd

0000000000

CIITTITIItrt]

e ] e ]
— P~ =~

s T T

LT IT1
UL ]
LIT 1T

LIITITI

HNENEEEERE

7

91

\BRR3

VUV OY
VBBV

45 - 8

0O
0 O

O00O00O0
O0O0O0O

74 — 6
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2. Subtract.

2 I

00000 O0oOog
Di00Qdn; oOoo
16 — 8 = 8
(TTIITIIT] Oooo0 ooo

EREERENERE EIEIEIDD OO0

e 46 — 8

46 — 8 = s

0 16

14 = T £ 5=
B4 = 63 &5 =
1 - 5 = 14w G
61 —5 & PAC L3S 2
12 — 7= 13763
82 — 7 = 93 — 6 =
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EXERCISE 64

[eadiioc
JW?%Eﬁ.
&@3 g iy

= % B
)
%

=> : T s
R S

100 — 50 =

148




2. Subtract.
— A A e
00 HEHEE
— HHHIH H
— H H HiH H!
O A PENES
Sgsig N . ERES
I~ = .,_._l |
E O O f\[ g,_—:i
6 tens — 2 tens =
60 — 20 =
4 tens 1ten = ____ tens 5 tens J3tens = ____ tens
40 10 = 50 30 =
6 tens S5tens =____ ten 7 tens 4tens = ____tens
60 50 =__ 70 40 =
8 tens 6tens = ____ tens 7 tens 2tens = _____tens
80 60 =_ 70 20 =
9 tens 4tens =_____ tens |10 tens 7tens = ____ tens
90 40 = 100 70 = _

149




EXERCISE 65

1.

Subtract.

81 — 50

150




2. Subtract.

[

f__:__::
::__:____,

LITITTTTTT]

10

30 - 20

|
:Z:Z::

N e — — —— — — — — —

EVEEERNIEREN

= Jo
OII111111])

4
(ap]

80 — 40
83 — 40

90 - 80

95 - 80

40 - 30

49 - 30

30 — 10

36 — 10

50 — 40
57 — 40
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EXERCISE 66

1. Subtract.
(1 [
T
36 — 13 =
47 - 10 — 2 = 67 — 10 - 5 =
47 - 12 = 67 - 15 =
58 — 10 — 8 = 60 — 10 - 4 =
58 — 18 = 60 — 14 =
43 - 10 — 7 = 61 — 10 — 3 =
43 - 17 = 61 — 13 =

152




2. Subtract.

—
I
I

LITTTITTIT]

HNEENEENEE

46 — 20 — 2

46 - 22

75 — 42

1

8

60 — 28

60 — 20 -

7
9% — 87

96 — 80 -

4

68 — 20 —

68 — 24

3

53 - 30 -

53 - 33

7

73 — 40—

73 — 47

153



REVIEW 6
1. Count the tens and ones.
(q) Tens |Ones
@) ORON
& & & & ooo|l
) OROX9)
Tens |Ones

el

& 10000000

2. Fill in the missing numbers.

Begin with the smallest.

i

smallest

greatest

154

(a) {40 [ 50 — 70 — — 90

(b) | 6 1 8 [ — g14*16*}

o [oH=H H H HeHwHs)
3. Arrange these numbers in order. @




4. How many oranges are there altogether?

There are oranges dltogether.

5. Share 8 balloons equally between 2 children.

How many balloons does each child get?

PO
PPPY

Each childgets __ balloons.

6. Circle groups of 6 marbles.

How many groups are there!?

There are groups.




How many fewer balloons does David have than Lynn?

(3 ool s

David has fewer balloons than Lynn.
| ate 12 cookies) | ate 2 fewer
cookies than
Joe.

o)

Joe Cameron

How many cookies did Cameron eat?

QL= '

Cameron ate cookies. *-

156 |



9. There are 20 children in an art class.
6 of them are girls.

How many boys are there?

There are boys.

10. There are 8 big balls and 6 small balls in a basket.

How many balls are there in the basket?

There are balls in the basket.

11. There are 15 marbles.
4 of them are outside the bag.
How many marbles are there in the bag?

o

=

There are marbles in the bag.
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EXERCISE 67
1. Match.




2. How much money is there in each set of coins?

159




EXERCISE 68

160




2. Color the correct amount of money.

(@)

(b)

(c)

(d)

161




EXERCISE 69

1. Check | v |the set that has more money.

emmm—e
-

.
—mem.
.

(@) R T,

*
’
’ ) s
' % v
] it ’
H L ' /
' | |. N
[l . ]
1 ] ]
1 [}
[} H )
[}
[ ) \
[} ' ]
b a .
Y g \

-
-
e

-
~

T rarsmmeesew.

-

B Ll Ty

-

»

T
~

e

L.
T Tl T ——

-
.
T emccs e m -

2. Check | v |the set that has less money.

B ]
e cetna.

@

.
’
‘ . P \
r ) F )
) [} ’ [}
t L N \
] v '
] ' ' ]
1 ' 1 '
v L) " ]
] ’ H ]
' ' ' ]
v 1 ¥ I
» v ' ]
L) ' [} 3
[} LY ¥
Y ]
) ]

-
B s L T T

apmmm=e.

P L LTI L LT TR,
Lammemee ..

"

-

.
.
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] H :
] H [ !
I . ¥ '
L4 ] & ]
s T ] "
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Ll . :
]
: : ' :
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1 H [} H
] [ 2 ]
L] . ¥
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-
~
-~
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e L L e L L




3. Check | v/ [the set that has the most money.

PEEELE DT L T e

o rtceman
-~
-

P el L]
- S

-
-
-
B kil
-

-
-
.

L e mm -

-
."----_..
L
e e L L LA L T L T P e L

4. Check n the set that has the least money.

eemmrmr e

P
’

T e Pl

e mmreme A cAmsmmemA S
~a

-
¢

. -

o

B L R

-
P e

R LT T

Lo

P g

P L e L ittt DL L L LT
..
. -

-

e

-*

- .
T

-

e
*
.

e
Seereca. ——eaa
e msscsasmeemmsam = LD T ———
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EXERCISE 70

1. Is the amount of money enough to buy the item?
Write Yes or No.

(a)

(b)

(d)
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2. Mr. Brown had $20.
He bought the watch.

How much money did he have left!

$20 — $13 =

Hehad $ . left.

Juan has $9.
He wants to buy the toy camera.

How much more money does he need?

$12 — $9 =

Heneeds$ _ more.
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4. (a) Devi has 55¢.
She wants to buy the pen.

Sheneeds . ¢ more.

(b) Morgan had $1.
She bought the toy boat.
She had ¢ left.

(c) Sara bought two pears.
She paid ¢.

(d) Brian spent $1.
He bought the

70¢ |

40¢ each

the
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REVIEW 7
1. Match.
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“Scrabble set |

(a) Which is cheaper, the tea set or the Scrabble set?

How much cheaper?

O

The ___ setis $ cheaper than the

£

set.

(b) Ali has $12.
He wants to buy the robot.

How much more money does he need!?

JOL-

He needs $ more.

(c) Pablo bought the bat and the toy car.
How much did he pay?

L OL

He paid $
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Ebought 3 mango@ Gbought 10 mangoes)

Mr. Lee Mr. Garcia

Who bought more mangoes? How many more?

L OL-

Mr. bought more mangoes than
Mr.

5. | have 7 more marbles
@GV@ 13 mGr;/k‘?i) than Ryan.
9

Ryan Peter

How many marbles does Peter have!?

JOLJ-L]

Peter has marbles.
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6. After giving away 5 shells, John had 6 shells left.

How many shells did he have at first?

He had shells at first.

7. Nicole bought 12 pastries. I
She put 4 of them on a plate. I a
=,

She put the rest in a box.

How many pastries were there in the box? ————

There were pastries in the box.

8. Mary has 11 story books.
She has 2 more story books than Sally.

How many story books does Sally have!?

Sally has story books.
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REVIEW 8

1. Follow the arrows and fill in the missing numbers.

2. Add or subtract.

(a) (b) i
N

0O F 0O

N - 1

O [ ] 1
59 + 4 = 76 + 8 =
(©) (d) -
HAH

HHHAR

. JHHEHS
62 - 5 = 83 — 5 =
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3. Color the 3 pieces that form the given square.

ZIRSNEN

4. Color a half of the square.
Color a quarter of the rectangle.

Ryan’s Toys

Car Airplane

_ ) stands for 1 toy.

Fill in the blanks.

(@) Ryanhas __ airplanes.
(b) He has more boats than cars.
(c) He has fewer soldiers than airplanes.

(d) He has toys altogether.
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e, /

(a) Devi bought the guitar and the umbrella.
She spent $ altogether.

(b) Rahmat had $20.
He bought the toy car.
He had $ left.

(c) The schoolbagis$ _ cheaper than the toy car.

(d) Meihua spent $13.
She bought the and the

173




7. Thomas and Emily have 13 apples altogether.
Thomas has 6 apples.

How many apples does Emily have?

Emily has apples.

8. Sara had $20.
She had $6 left after buying a teddy bar.
How much did she pay for the teddy bear?

She paid $ for the teddy bear.

9. Justin has $11.
He has $3 less than Tom.

How much money does Tom have!

Tom has $
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10.

Amy has 32 stickers.
Lacey gives her 23 more.
How many stickers does Amy have now!?

Amy has stickers now.

11

There are 3 dimes and 3 nickels in a purse.
What is the total amount of cents in the purse!?

The total amount of cents in the purse is

12.

Mary has a dollar bill.
How many quarters can she get for the dollar bill?

Mary can get quarters.
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13.

Peter has 3 nickels. John has 2 dimes. David has 1 quarter.
Who has the most money!?

has the most money.

14.

Adam paid 3 quarters and 1 nickel for a candy bar.
How much did the candy bar cost?

The candy bar cost cents.

13

Juan has 54 marbles.
He gives away 6 of them.
How many marbles does he have left?

He has marbles left.
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